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[ Instructions ]

O Use black ink or ball-point pen.

O Fill in the boxes at the top of this page with your name,
centre number and learner registration number.

O  Answer all questions.

O Answer the questions in the spaces provided
— there may be more space than you need.

[ Information ]

O The total mark for this paper is 90.
O The marks for each question are shown in grey boxes
— use this as a guide as to how much time to spend on each question.

[ Advice ]

O Read each question carefully before you start to answer it.
O Try to answer every question.
O Check your answers if you have time at the end.
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N
Rebecca is 34 years old and six months pregnant with her third child. Rebecca lives
with her husband Saul who is 44 years of age, her daughter Miriam who is 13 years o
old and her son Noah who is 4 years old. ©)
2
2
1 Miriam is going through puberty. =
)
Identify four physical changes she will be experiencing. -
S
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Total for Question 1 = 4 marks
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2 Outline how both Noah's fine and gross motor skills should develop over the next
two years.

Total for Question 2 = 4 marks
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3 Discuss three possible effects of Rebecca’s pregnancy on her self-concept.
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Total for Question 3 = 6 marks
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Noah is currently the youngest member of the family and has a close relationship
with his mother.

4 Evaluate how Noah’s social and emotional development could be affected by a
new sibling.

Total for Question 4 = 10 marks
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George is 65 years old and lives with his wife Polly, who is 53 years old.
Their adult daughter, Nita, is 19 years old and has foetal alcohol syndrome.

5 Explain the effects of foetal alcohol syndrome on Nita’s intellectual development.

Total for Question 5 = 6 marks
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George is soon to retire from his job as a senior manager, which he has held for
35 years.

6 Explain two possible effects of George’s retirement on his emotional development.

Total for Question 6 = 4 marks
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Due to Nita’s care needs, Polly did not return to her career as a nurse after Nita’s birth.
Recently she has considered returning to nursing.

7 To what extent will George’s retirement from a senior role affect Polly’s self-image?

Total for Question 7 = 10 marks
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Polly has decided to leave George and the family home, leaving George as Nita’s
sole carer.

8 Evaluate the effects of ageing on George’s ability to care for Nita.

Total for Question 8 = 10 marks
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Rashida is 15 years old and attends the local Academy. Rashida is a popular and able
student who has always enjoyed school. Recently a new girl, Janna, has joined the
class, she is jealous of Rashida. Janna takes every opportunity to criticise Rashida

in public.

9 Discuss the possible effects of Janna’s criticism on Rashida’s emotional development.

Total for Question 9 = 6 marks
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Igbal is 74 years old and lives with his wife Yasmina, who is 70 years old and has
dementia, in a house on a busy main road. Igbal has high blood pressure and
type 2 diabetes.

Igbal enjoys his food, particularly the cakes and biscuits his daughter-in-law Nusrat
brings with her when she visits with the grandchildren. Igbal spends much of his
time watching daytime television when he isn't caring for Yasmina.

Recently Igbal has become anxious, as the council are considering widening the road
outside of the house, and the family may have to be re-housed.

10 Explain two possible effects on Igbal’s physical health of his current lifestyle.

Total for Question 10 = 6 marks
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11 Describe how Igbal’s daughter-in-law could support him in improving his
emotional health.

Total for Question 11 =4 marks
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12 Discuss the potential effects of Igbal’s current lifestyle on his intellectual wellbeing,
referring to relevant theories.
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Evaluate the effects of the council’s potential decision to widen the road on Igbal and
Yasmina'’s health and wellbeing.
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Total for Question 13 = 10 marks

TOTAL FOR PAPER = 90 MARKS

END OF EXAM

/
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